Free Enterprise Exam
Multiple Choice
Identify the choice that best completes the statement or answers the question.
____
1.
All of the following are types of decisions that can be made at the margin EXCEPT

	a.
	whether to grow beans or corn on a large farm.

	b.
	whether or not to hire 100 new workers.

	c.
	whether to leave early in the morning or late in the day for a trip.

	d.
	whether or not to go on a vacation.


____
2.
The law of increasing costs means that when an economy increases the production of one item

	a.
	the opportunity cost goes up.

	b.
	the actual cost of making the item goes down.

	c.
	the actual cost goes up but the opportunity cost goes down.

	d.
	the production costs will increase also.


____
3.
The opportunity cost of a decision can be examined by using a

	a.
	production possibilities graph.
	c.
	global trade-off grid.

	b.
	factors of production chart.
	d.
	graph of increasing costs.


____
4.
Production possibilities frontiers curve when they are charted on a graph because they show

	a.
	the underutilization of resources.

	b.
	the maximum output of goods and services.

	c.
	the increasing costs resulting in increasingly less output.

	d.
	the technological level of the economy’s productivity.


____
5.
Why are all goods and services scarce?

	a.
	Some goods cost more than others.

	b.
	All resources are scarce.

	c.
	Some things are needs and others are wants.

	d.
	Some people want to have more goods than others.


____
6.
Which of the following is the kind of decision that can be made at the margin?

	a.
	whether or not to hire new workers

	b.
	whether or not to go on a vacation

	c.
	whether or not to build an extra room on a home

	d.
	whether to have a dog or a cat as a pet


____
7.
What is a factory building an example of?

	a.
	human capital
	c.
	an economic trade-off

	b.
	physical capital
	d.
	technology


____
8.
One example of an entrepreneur is

	a.
	a writer who is hired by a film studio to adapt a novel into a screenplay.

	b.
	a lawyer in a high-profile law firm that specializes in business law.

	c.
	an Olympic ice skater who later decides to join a professional ice show.

	d.
	an artist who runs a business painting murals in office buildings and restaurants.


____
9.
One example of thinking at the margin is

	a.
	determining whether it is better to spend your savings on a new CD player or on a television.

	b.
	deciding whether the benefit of working two extra hours per day is worth the sacrifice of study time.

	c.
	putting all of your money in a savings account because the interest rates are so high.

	d.
	deciding to buy a car you don’t really like because it is significantly less expensive than the one you want.


____
10.
A company that makes baseball caps is underutilizing its resources. What does this mean?

	a.
	The company is running more efficiently than its competitors.

	b.
	The company is paying its employees less than it should be.

	c.
	The company is making caps when it could be making t-shirts instead.

	d.
	The company is producing fewer caps than it could be.


____
11.
What is the struggle among various producers for the consumer’s business called?

	a.
	socialism
	c.
	incentive

	b.
	competition
	d.
	self-regulation


____
12.
What is one of the most important advantages of a free market?

	a.
	It can change rapidly.
	c.
	It is easy to regulate.

	b.
	It protects the less fortunate.
	d.
	It encourages growth.


____
13.
What is an important advantage of a free market?

	a.
	It does not change unless the government directs it.

	b.
	It offers a wide variety of goods and services.

	c.
	It is easy to regulate.

	d.
	It protects the less fortunate.


____
14.
Which of the following goals is difficult to achieve in a pure free market system?

	a.
	economic efficiency
	c.
	economic freedom

	b.
	economic equity
	d.
	economic growth


____
15.
Why does the government use its powers to make sure that businesses disclose so much information to the public?

	a.
	to make buyers more knowledgeable and safer

	b.
	to make it hard for businesses to make an excess profit

	c.
	to make it easier for consumers to save money

	d.
	to make it easy for businesses to have good information


____
16.
What is the difference between a business cycle and the day-to-day ups and downs of the market?

	a.
	The day-to-day ups and downs of the market can be much more extreme than a business cycle.

	b.
	The day-to-day fluctuations are more likely to have an impact on people’s finances.

	c.
	A business cycle is usually more restricted, whereas market fluctuations are worldwide.

	d.
	A business cycle is a major, prolonged fluctuation rather than a day-to-day movement.


____
17.
A person who consumes a good or service but does not pay for it is called which of the following?

	a.
	a free rider
	c.
	a private consumer

	b.
	a volunteer user
	d.
	an entrepreneur


____
18.
In 1996, a new federal welfare program called Temporary Assistance for Needy Families (TANF) began assisting poor families. Which of the following was NOT a provision of TANF?

	a.
	direct cash payments to recipients
	c.
	lifetime limit of benefits

	b.
	work incentives
	d.
	state-run welfare programs


____
19.
Why is legal equality important to the free enterprise system?

	a.
	Ensuring that all businesses have the same legal rights will create healthy competition in the marketplace.

	b.
	Requiring all lawyers to obtain the same education will ensure that all business clients receive competent legal representation.

	c.
	Protecting legal equality makes sure that all people may decide what legal agreements they want to enter into.

	d.
	Guaranteeing all people the same legal rights will maximize the use of human capital.


____
20.
To stabilize the economy, policymakers try to achieve three main outcomes: high employment, steady growth, and

	a.
	technological advancement.
	c.
	competition.

	b.
	stable prices.
	d.
	consumer confidence.


____
21.
What are inferior goods?

	a.
	goods that are not well produced

	b.
	goods that no one wants to buy

	c.
	goods for which the demand rises when income falls

	d.
	goods for which the demand falls when income rises


____
22.
Ceteris paribus, or “all other things held constant,” is an assumption that has which of the following effects on a demand schedule?

	a.
	It takes only prices into account.

	b.
	It considers the effects of all possible changes on demand.

	c.
	It is accurate no matter what changes occur.

	d.
	It is accurate only at one price level.


____
23.
What kind of table lists the quantity of a good that a person will buy at different prices?

	a.
	demand schedule
	c.
	market demand schedule

	b.
	demand curve
	d.
	market demand curve


____
24.
Demand for movie rentals is highly elastic. A video store that raises the price of a rental will

	a.
	lose revenue.
	c.
	possibly gain or lose revenue.

	b.
	gain revenue.
	d.
	see no change in revenue.


____
25.
Jasmine is willing to buy 40 pencils at 25 cents apiece. When the price is ten cents apiece, she is willing to buy 100 pencils. Which of the following statements could be true about Jasmine’s demand for pencils?

	a.
	She will buy 80 pencils at 15 cents apiece.

	b.
	She will buy 20 pencils at 20 cents apiece.

	c.
	She will buy 100 pencils at 5 cents apiece.

	d.
	None of these statements is likely to be true.


____
26.
A shoe factory has an elasticity of supply of .5 as the price of shoes rises from $50 to $75. If the factory produced 100,000 shoes at a market price of $50, how many will be produced at the new price?

	a.
	75,000
	c.
	200,000

	b.
	125,000
	d.
	400,000
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____
27.
If the market price for pizza is $2.00 a slice, how many slices will be supplied by all producers in the market, according to Figure 5.4?

	a.
	200
	c.
	250

	b.
	2,000
	d.
	2,500


____
28.
The market price of a slice of pizza has risen from $1.50 to $2.00. Based on Figure 5.4, the average pizzeria will respond by

	a.
	making 50 fewer slices a day.
	c.
	making 500 fewer slices a day.

	b.
	making 50 more slices a day.
	d.
	making 500 more slices a day.


____
29.
On which kinds of goods do governments generally place price ceilings?

	a.
	those that are cheap but could become more expensive without the ceiling

	b.
	those that are not necessary but have become customary

	c.
	those that are essential and cheap

	d.
	those that are essential but too expensive for some consumers


____
30.
Rent control is a type of

	a.
	price ceiling.
	c.
	rationing.

	b.
	price floor.
	d.
	surplus.


____
31.
Elena is looking for an apartment. Which of the following is an example of her search costs?

	a.
	Elena must pay the first and last months’ rent before she can move into a new apartment.

	b.
	Elena pays movers $400 to help her transfer her belongings to the new apartment.

	c.
	Elena misses two days of work at the supermarket to visit several different apartments available for rent.

	d.
	Elena pays $300 to stay at a hotel for four nights before the apartment is ready.


____
32.
A shortage will develop when

	a.
	the quantity supplied of a good is greater than the quantity demanded of that good.

	b.
	the equilibrium quantity supplied is lower than the actual quantity supplied.

	c.
	the government provides subsidies to producers.

	d.
	the market price is below the equilibrium price.


____
33.
Why do fads often lead to shortages, at least in the short term?

	a.
	Buyers and sellers are unable to agree on a price for the good.

	b.
	Laws prevent stores from responding to excess demand in time to prevent a shortage.

	c.
	Manufacturers charge extremely high prices for the goods that stores are unwilling to pay.

	d.
	Demand increases so quickly and unexpectedly that time is needed for the quantity supplied and price to increase to reach a new equilibrium point.


____
34.
Technological process has reduced the cost of manufacturing MP3 players. If demand is unchanged,

	a.
	more MP3 players will be sold at a higher price.

	b.
	fewer MP3 players will be sold at a higher price.

	c.
	more MP3 players will be sold at a lower price.

	d.
	fewer MP3 players will be sold at a higher price.
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____
35.
According to Figure 6.2, in this market, a price of $1.50 would be

	a.
	the equilibrium price.
	c.
	a price ceiling.

	b.
	a price floor.
	d.
	a subsidy.


____
36.
What is monopolistic competition?

	a.
	one company selling the identical product under different names

	b.
	one company selling several different products under different names

	c.
	a very few companies selling identical products

	d.
	many companies selling similar but not identical products


____
37.
Cartels are difficult to operate for which of the following reasons?

	a.
	They work only if members keep to their agreed output.

	b.
	They are illegal worldwide.

	c.
	Firms in a cartel are likely to lose money.

	d.
	The products are perfectly competitive.


____
38.
Which of the following is a product that is considered a commodity?

	a.
	automobiles
	c.
	writing paper

	b.
	feed corn for cattle
	d.
	apples


____
39.
A monopolist will set its production at a level where marginal cost is equal to

	a.
	marginal revenue.
	c.
	total revenue.

	b.
	the equilibrium market price.
	d.
	quantity supplied.


____
40.
Which of the following statements is true about profits in a monopolistically competitive market?

	a.
	Most firms will earn substantial profits from year to year.

	b.
	Many firms will earn profit in the short term, but they must constantly innovate and compete to earn profits in the long term.

	c.
	Profits are rare in monopolistically competitive markets.

	d.
	Monopolistically competitive firms are as profitable as monopoly firms.


____
41.
Complete this sentence: In a monopoly market, the market price will be _____ the price in a perfectly competitive market.

	a.
	greater than
	c.
	greater than or less than

	b.
	less than
	d.
	equal to


____
42.
If a firm enjoys economies of scale,

	a.
	its average total cost will increase as production increases.

	b.
	its marginal revenue will increase as production increases.

	c.
	its average total cost will decrease as production increases.

	d.
	its total costs will decrease as production increases.


____
43.
What are the money and other valuables that belong to a corporation or partnership called?

	a.
	liabilities
	c.
	ownership

	b.
	assets
	d.
	liens


____
44.
What are organizations that are in the business of benefiting society and operate like a business called?

	a.
	trade associations
	c.
	producer cooperatives

	b.
	nonprofit organizations
	d.
	limited partnerships


____
45.
In a publicly held corporation

	a.
	stockholders rarely trade their stocks.

	b.
	a large number of stockholders can buy and sell stock.

	c.
	stocks are not usually traded at stock exchanges.

	d.
	family members are excluded from holding stock.


____
46.
Dr. Ruiz shares equal responsibility and liability with her colleagues in their medical practice. Her practice is a

	a.
	general partnership.
	c.
	limited liability partnership.

	b.
	limited partnership.
	d.
	sole proprietorship.


____
47.
Your running shoes were designed in the United States but assembled in Asia by a company called RunnerPro. RunnerPro is a

	a.
	general partnership.
	c.
	multinational corporation.

	b.
	trade association.
	d.
	producer cooperative.


____
48.
Your family’s house needs a new roof. In order to find out which roofers are reliable and charge fair prices, your family should call your local

	a.
	business franchise.
	c.
	Better Business Bureau.

	b.
	service cooperative.
	d.
	labor union.


____
49.
You own a successful bicycle repair business. You are considering incorporating in order to

	a.
	avoid double taxation.

	b.
	raise money more easily.

	c.
	avoid government regulations.

	d.
	acquire greater control in managing the business.


____
50.
According to economic theory, what happens to job opportunities in low-paying jobs when the minimum wage goes up?

	a.
	Job opportunities become more interesting.

	b.
	The jobs available become easier to get.

	c.
	The quantity of labor demanded goes down.

	d.
	The quantity of labor demanded goes up.


____
51.
In inflation-adjusted dollars, how have average wages in the United States changed in the last 20 years?

	a.
	Wages have gone up significantly.
	c.
	Wages have varied every few years.

	b.
	Wages have gone down significantly.
	d.
	Wages have stayed the same.


____
52.
Jon is deciding between a job with Company A that pays $500 a week and a job with Company B that pays $550 a week. He decides to take the job with Company A, whose lower compensation is offset by its

	a.
	large number of information management jobs.

	b.
	higher earnings.

	c.
	contributions to Social Security.

	d.
	benefits such as health insurance and stock options.


____
53.
Which of the following is an example of money as a unit of account?

	a.
	purchasing a toy for $8.99

	b.
	lending a friend $25.00

	c.
	opening a savings account at a bank

	d.
	checking the price of a camera at several stores before buying it at the lowest price


____
54.
What is the purpose of the Federal Deposit Insurance Corporation (FDIC)?

	a.
	to make sure that banks do not fail

	b.
	to make sure that customers do not lose money if a bank fails

	c.
	to make sure that banks charge a fair amount of interest on loans

	d.
	to make sure that the government has enough gold to cover its expenses


____
55.
What did the Federalists believe about banking?

	a.
	They believed that the banking system already in existence was sufficient.

	b.
	They believed an international banking system would be best.

	c.
	They believed that a centralized banking system was necessary.

	d.
	They believed that state governments should own and run the nation’s banks.


____
56.
What is a mortgage used to purchase?

	a.
	car
	c.
	college tuition

	b.
	real estate
	d.
	business expenses


____
57.
What happens during a bank run?

	a.
	The government orders a bank to close.

	b.
	States charter more banks than needed.

	c.
	The price of gold suddenly increases.

	d.
	More customers withdraw money than the bank has on hand.


____
58.
What happens when you make a purchase using a credit card?

	a.
	The credit card issuer pays the store.

	b.
	The money is immediately deducted from your account.

	c.
	The amount of the purchase is deducted from a prepaid account.

	d.
	The place where you made the purchase receives the money within 24 hours.


____
59.
What is the largest source of income for banks?

	a.
	the interest they receive from loans

	b.
	fees charged to customers for accounts

	c.
	money deposited in savings accounts

	d.
	special accounts such as NOW accounts


____
60.
In the 1800s, people in mining towns in the West often paid for goods with gold nuggets or gold dust. What was the function of gold?

	a.
	It was used as part of a barter system.
	c.
	It was used as representative money.

	b.
	It was used as a currency.
	d.
	It was used as fiat money.


____
61.
Why is representative money more useful than commodity money?

	a.
	Representative money can be used for other things besides currency. For example, gems can be made into jewelry, and cotton can be made into clothing.

	b.
	Representative money has value because the government has decreed that it is an acceptable means to pay debts. Commodity money had value only to people who believed it had value.

	c.
	Representative money exists in unlimited supply, allowing many more people to make use of it.

	d.
	Representative money is portable, durable, divisible, and acceptable. It can also be exchanged for something else of value.


____
62.
An example of blue chip stock might be

	a.
	a new start-up firm.

	b.
	a foreign-owned company that operates in another country.

	c.
	an established company that is traded over the Internet.

	d.
	a large, well-known company traded on the NYSE.


____
63.
You do not have to pay state taxes on interest earned on

	a.
	corporate bonds.
	c.
	money market mutual funds.

	b.
	treasury bills.
	d.
	junk bonds.


____
64.
A stock split is most likely to occur when

	a.
	a company is losing money.

	b.
	stockholders demand higher dividends.

	c.
	the price of a stock becomes too high.

	d.
	the stock market as a whole is doing poorly.


____
65.
A stock that reinvests its earnings in the business instead of paying regular dividends is called

	a.
	an income stock.
	c.
	preferred stock.

	b.
	common stock.
	d.
	a growth stock.


____
66.
You realize that many students who come to early morning hockey practice do not get up early enough to eat breakfast. You borrow $500 from your parents to start a bagel delivery service to the hockey rink in the early mornings. You are acting as

	a.
	a supplier in the capital market.
	c.
	a financial capital investor

	b.
	an entrepreneur.
	d.
	an intermediary.


____
67.
In June, Leslie wins a cash prize of $2,000. She plans to use this money to pay her tuition bill in September. Leslie puts this money in a savings account because her main priority is

	a.
	receiving the maximum amount of interest possible.

	b.
	taking a risk in hopes that she’ll get a high return.

	c.
	liquidity, since she’ll need to use the money in a short time.

	d.
	making a safe long term investment.


____
68.
Products that would be used in calculating GDP include

	a.
	toys manufactured in China at a factory owned by a U.S. company.

	b.
	cars manufactured in Tennessee at a factory owned by a Japanese automobile company.

	c.
	plastic manufactured in a factory in Kentucky and sold to toy manufacturers around the world to make plastic toys.

	d.
	cotton cloth manufactured in India and sold to clothes makers in the United States.


____
69.
All of the following measures help to promote technological progress EXCEPT

	a.
	increased wages for researchers.

	b.
	issuing a patent to a company that invents a new product.

	c.
	training programs for workers.

	d.
	reducing the scale of the market for a new product.


____
70.
An example of a nondurable good is

	a.
	a new car.
	c.
	a paperback book.

	b.
	a used car.
	d.
	a washing machine.


____
71.
GDP expressed in constant, or unchanging, prices is called

	a.
	real GDP.
	c.
	nominal GDP.

	b.
	price level.
	d.
	net national product.


____
72.
The main economic variables that affect business cycles include all of the following EXCEPT

	a.
	interest rates.
	c.
	personal savings levels.

	b.
	external shocks.
	d.
	business investment levels.


____
73.
When Alison, a college math professor, leaves her job at a small rural college and starts looking for a job at large urban university, she is

	a.
	frictionally unemployed.
	c.
	cyclically unemployed.

	b.
	structurally unemployed.
	d.
	a discouraged worker.


____
74.
If the CPI for 2001 was 177 and the CPI for 2002 was 180, the rate of inflation between 2001 and 2002 was

	a.
	1.96%.
	c.
	4.66%.

	b.
	2.69%.
	d.
	1.69%.


____
75.
What is the possible consequence of the following scenario? Because of high unemployment rates in the country of Lavernia, employers offer higher wages. To meet their higher payroll costs and maintain profits, they charge consumers more for goods and services.

	a.
	a prolonged period of deflation

	b.
	demand-pull inflation

	c.
	a wage-price spiral of ever-increasing prices

	d.
	increasing numbers of people living on a fixed income


____
76.
What is the major source of tax revenue for local governments?

	a.
	inheritance taxes
	c.
	property taxes

	b.
	income taxes
	d.
	sales taxes


____
77.
The federal government spends the largest amount of its budget on Social Security, which is an example of

	a.
	federal aid to state and local governments.

	b.
	discretionary spending.

	c.
	mandatory spending.

	d.
	defense spending.


____
78.
What happens to the money that your employer withholds from your paycheck?

	a.
	Your employer holds it until you leave your job and then returns it to you.

	b.
	Your employer returns to you at the end of the year so that you can pay your federal taxes.

	c.
	Your employer holds it in case you damage his property.

	d.
	Your employer sends it to the federal government to help pay your income tax bill.


____
79.
Keynesian economics failed to deal successfully with

	a.
	World War II.

	b.
	the Great Depression.

	c.
	high inflation during the 1970s.

	d.
	low unemployment rate during the 1960s.


____
80.
All of the following are reasons why it is difficult to implement balanced fiscal policy EXCEPT

	a.
	the need for discretionary spending.

	b.
	political pressures for reelection.

	c.
	difficulty of predicting future economic performance.

	d.
	difficulty of coordinating the needs of many different agencies.


____
81.
All of the following are characteristics of classical economics EXCEPT

	a.
	a free market economy.

	b.
	the law of supply and demand.

	c.
	the idea of achieving market equilibrium.

	d.
	a significant role for government in the running of the economy.


____
82.
The federal government’s Fiscal Year 2007 begins on

	a.
	January 1, 2006.
	c.
	December 31, 2006.

	b.
	October 1, 2006.
	d.
	January 1, 2007.


____
83.
The Laffer curve predicts the effects of changes in the tax rate on

	a.
	unemployment.
	c.
	real GDP.

	b.
	tax revenues.
	d.
	aggregate supply.


____
84.
How could the Federal Reserve encourage banks to lend out more of their reserves?

	a.
	reduce the discount rate
	c.
	increase the prime rate

	b.
	raise the required amount of reserve
	d.
	reduce the money supply


____
85.
What does “lender of last resort” mean with respect to the Federal Reserve?

	a.
	It will lend money to a bank in a financial emergency.

	b.
	It makes decisions about who a bank can lend money to.

	c.
	It decides interest rates for interbank loans.

	d.
	It has the power to decide how much money a bank can lend out.


____
86.
What effect would an increase in the discount rate have on the money supply?

	a.
	It would cause the money supply to contract.

	b.
	It would increase the money multiplier.

	c.
	It would cause the money supply to expand.

	d.
	It would have no effect on the money supply.


____
87.
When a nation imports more than it exports, economists say it has which of the following?

	a.
	a trade surplus
	c.
	a trade deficit

	b.
	a balance of trade
	d.
	a national difference


____
88.
Which of the following is a treaty to eliminate all trade barriers between Canada, Mexico, and the United States?

	a.
	APEC
	c.
	CARICOM

	b.
	MERCOSUR
	d.
	NAFTA


____
89.
Suppose that there is a balance of trade in both the United States and Canada. Then, the U.S. dollar appreciates against the Canadian dollar. What would the likely outcome be?

	a.
	a trade surplus in the United States
	c.
	a trade deficit in both countries

	b.
	a trade deficit in Canada
	d.
	a trade surplus in Canada


____
90.
According to the law of comparative advantage, a country should

	a.
	specialize and export goods with the highest opportunity cost.

	b.
	specialize and export goods with the lowest production cost.

	c.
	specialize and export goods with the lowest opportunity cost.

	d.
	specialize and export goods with the lowest average cost.


____
91.
The United States placed a limit on the number of cars that can be brought into the country for sale. This is an example of

	a.
	an import quota.
	c.
	a customs duty.

	b.
	a tariff.
	d.
	a voluntary export restraint.


____
92.
Which of the following is NOT an argument in favor of protectionism?

	a.
	Protectionism safeguards workers’ jobs.

	b.
	Protectionism shields infant industries from competition.

	c.
	Protectionism fosters competition and keeps prices regulated.

	d.
	Protectionism promotes industries that are essential to national security.


____
93.
“Brain drain” occurs when

	a.
	a young girl in an LDC stops attending school after eighth grade.

	b.
	an engineer leaves her LDC to work in a developed nation.

	c.
	a boy in an LDC decides not to attend college because his help is needed to run the family business.

	d.
	a student from an LDC receives a college education in a developed nation and then returns home to work in his own country.


____
94.
The most important reason why two countries that have the same GDP can have vastly different standards of living is because of

	a.
	population size.
	c.
	access to health care.

	b.
	income distribution.
	d.
	access to consumer goods.


____
95.
When compared with LDCs, a higher proportion of people in developed nations are

	a.
	older than 65.
	c.
	children between the ages of 5 and 10.

	b.
	infants.
	d.
	of child-bearing age.


____
96.
All of the following are accurate statements about the debt problem in LDCs EXCEPT that

	a.
	in some countries, debt is greater than GDP.

	b.
	a rapid increase in the price of oil caused a great rise in debt.

	c.
	the rise in value of the U.S. dollar caused a rise in debt.

	d.
	debt holders often seize government property when loans are not repaid.


____
97.
Suppose a less developed country is having difficulty making payments on its foreign debts. What option does this nation have?

	a.
	It may ask its lenders for additional loans in exchange for accepting a foreign portfolio investment from the World Bank.

	b.
	It may ask its lenders to forgive the loans in exchange for accepting temporary control by the lender nation.

	c.
	It may ask its lenders for debt rescheduling in exchange for accepting a stabilization program from the International Monetary Fund.

	d.
	It may ask its lenders to forego the payments until the economy of the debtor nation is stronger.


____
98.
A particular nation has a low per capita GDP, low literacy rate, high infant mortality rate, and inadequate educational system. This nation would be considered a

	a.
	developed nation.
	c.
	newly industrialized country.

	b.
	less developed country.
	d.
	transitional country.


____
99.
Factors such as life expectancy, energy consumption, per capita GDP, literacy rates, and infant mortality rates are used to

	a.
	measure the cultural output of a country.

	b.
	judge the worth of a nation and its people.

	c.
	determine how much foreign aid will be provided to a country.

	d.
	measure the development of a country.


____
100.
If the population of less developed countries continues at its current pace, the population of these nations is expected to double in 40 years. What will be a consequence of this rapid population growth?

	a.
	The population will be rapidly aging, and these nations will require more health facilities and trained health care workers.

	b.
	Large numbers of people will be expected to emigrate from these countries, and nearby nations will be the ones to bear the burden of the migrating population.

	c.
	These countries are expected to be able to keep up with the demand for more schools, employment opportunities, and agricultural and industrial output.

	d.
	A large percentage of the population will be too young to work, therefore productivity will not increase with the population.


Essay
Critical Thinking

101.
Expressing Problems Clearly What would be likely to happen if the government decided that Capeland’s economy should only produce watermelons—21 million tons of them—and no pairs of shoes? Discuss.

102.
How can a change in population cause a change in the type of clothing that is in demand?

103.
Formulating Questions What questions should be asked about an excise tax or government supply regulation to determine its purpose?

104.
Making Comparisons What are the possible outcomes of the change from Aid to Families with Dependent Children to Temporary Assistance to Needy Families?

105.
Checking Consistency Explain how a person can be employed and still be living under the poverty threshold.

Free Enterprise Exam

Answer Section
MULTIPLE CHOICE

1.
ANS:
D
PTS:
1
DIF:
Medium
REF:
10

OBJ:
1.1.2.3
TOP:
thinking at the margin


2.
ANS:
A
PTS:
1
DIF:
Medium
REF:
17

OBJ:
1.1.3.2
TOP:
law of increasing costs

3.
ANS:
A
PTS:
1
DIF:
Medium
REF:
9

OBJ:
1.1.3.1
TOP:
opportunity cost | production possibilities graph

4.
ANS:
C
PTS:
1
DIF:
Medium
REF:
14

OBJ:
1.1.3.2
TOP:
production possibilities frontier

5.
ANS:
B
PTS:
1
DIF:
Medium
REF:
4

OBJ:
1.1.1.4
TOP:
scarcity and shortage


6.
ANS:
A
PTS:
1
DIF:
Medium
REF:
10

OBJ:
1.1.2.3
TOP:
thinking at the margin


7.
ANS:
B
PTS:
1
DIF:
Medium
REF:
4

OBJ:
1.1.1.3
TOP:
physical capital


8.
ANS:
D
PTS:
1
DIF:
Medium
REF:
6

OBJ:
1.1.1.3
TOP:
entrepreneur

9.
ANS:
B
PTS:
1
DIF:
Medium
REF:
10

OBJ:
1.1.2.3
TOP:
thinking at the margin


10.
ANS:
D
PTS:
1
DIF:
Medium
REF:
15

OBJ:
1.1.3.2
TOP:
underutilization


11.
ANS:
B
PTS:
1
DIF:
Medium
REF:
31

OBJ:
1.2.2.2
TOP:
competition

12.
ANS:
D
PTS:
1
DIF:
Medium
REF:
32

OBJ:
1.2.2.4
TOP:
market economy


13.
ANS:
B
PTS:
1
DIF:
Medium
REF:
32

OBJ:
1.2.1.4
TOP:
market economy


14.
ANS:
B
PTS:
1
DIF:
Medium
REF:
32

OBJ:
1.2.2.4
TOP:
free market

15.
ANS:
A
PTS:
1
DIF:
Medium
REF:
54

OBJ:
1.3.1.4
TOP:
public interest | public policy

16.
ANS:
D
PTS:
1
DIF:
Medium
REF:
57

OBJ:
1.3.2.1
TOP:
business cycles


17.
ANS:
A
PTS:
1
DIF:
Medium
REF:
63

OBJ:
1.3.3.1
TOP:
free rider

18.
ANS:
A
PTS:
1
DIF:
Medium
REF:
69

OBJ:
1.3.4.2
TOP:
government | income redistribution

19.
ANS:
D
PTS:
1
DIF:
Medium
REF:
53

OBJ:
1.3.1.2
TOP:
economic rights


20.
ANS:
B
PTS:
1
DIF:
Easy
REF:
58

OBJ:
1.3.2.2
TOP:
government

21.
ANS:
D
PTS:
1
DIF:
Medium
REF:
87

OBJ:
2.4.2.2
TOP:
inferior good

22.
ANS:
A
PTS:
1
DIF:
Medium
REF:
85

OBJ:
2.4.2.1
TOP:
ceteris paribus



23.
ANS:
A
PTS:
1
DIF:
Medium
REF:
81

OBJ:
2.4.1.3
TOP:
market demand schedule

24.
ANS:
C
PTS:
1
DIF:
Medium
REF:
96

OBJ:
2.4.3.3
TOP:
elasticity | revenue


25.
ANS:
A
PTS:
1
DIF:
Medium
REF:
81

OBJ:
2.4.1.3
TOP:
demand schedule


26.
ANS:
B
PTS:
1
DIF:
Hard
REF:
104

OBJ:
2.5.1.3
TOP:
elasticity of supply


27.
ANS:
D
PTS:
1
DIF:
Easy
REF:
103

OBJ:
2.5.1.2
TOP:
supply curve

28.
ANS:
B
PTS:
1
DIF:
Hard
REF:
104

OBJ:
2.5.1.2
TOP:
supply curve

29.
ANS:
D
PTS:
1
DIF:
Medium
REF:
128-130

OBJ:
2.6.1.4
TOP:
price ceiling

30.
ANS:
A
PTS:
1
DIF:
Medium
REF:
129

OBJ:
2.6.1.3
TOP:
rent control | price ceiling

31.
ANS:
C
PTS:
1
DIF:
Hard
REF:
136

OBJ:
2.6.2.3
TOP:
search costs

32.
ANS:
D
PTS:
1
DIF:
Medium
REF:
136

OBJ:
2.6.1.2
TOP:
shortage | disequilibrium

33.
ANS:
A
PTS:
1
DIF:
Hard
REF:
136

OBJ:
2.6.2.3
TOP:
shortage | disequilibrium

34.
ANS:
C
PTS:
1
DIF:
Medium
REF:
134

OBJ:
2.6.2.1
TOP:
supply

35.
ANS:
A
PTS:
1
DIF:
Easy
REF:
125

OBJ:
2.6.1.2
TOP:
equilibrium

36.
ANS:
D
PTS:
1
DIF:
Medium
REF:
166-167

OBJ:
2.7.3.1
TOP:
monopolistic competition

37.
ANS:
A
PTS:
1
DIF:
Medium
REF:
171

OBJ:
2.7.3.4
TOP:
cartel

38.
ANS:
B
PTS:
1
DIF:
Medium
REF:
152

OBJ:
2.7.1.1
TOP:
commodity

39.
ANS:
A
PTS:
1
DIF:
Easy
REF:
161

OBJ:
2.7.2.3
TOP:
monopoly

40.
ANS:
B
PTS:
1
DIF:
Medium
REF:
169

OBJ:
2.7.3.3
TOP:
monopolistic competition

41.
ANS:
A
PTS:
1
DIF:
Medium
REF:
162

OBJ:
2.7.2.3
TOP:
monopoly

42.
ANS:
C
PTS:
1
DIF:
Medium
REF:
157

OBJ:
2.7.2.1
TOP:
economies of scale


43.
ANS:
B
PTS:
1
DIF:
Medium
REF:
192

OBJ:
3.8.2.2
TOP:
assets

44.
ANS:
B
PTS:
1
DIF:
Medium
REF:
203-204

OBJ:
3.8.4.3
TOP:
nonprofit organization


45.
ANS:
B
PTS:
1
DIF:
Medium
REF:
196

OBJ:
3.8.3.1
TOP:
types of corporations


46.
ANS:
A
PTS:
1
DIF:
Medium
REF:
 190

OBJ:
3.8.2.1
TOP:
types of partnerships


47.
ANS:
C
PTS:
1
DIF:
Medium
REF:
199-200

OBJ:
3.8.3.3
TOP:
multinational corporation

48.
ANS:
C
PTS:
1
DIF:
Medium
REF:
204

OBJ:
3.8.4.3
TOP:
business associations


49.
ANS:
B
PTS:
1
DIF:
Medium
REF:
196-197

OBJ:
3.8.3.2
TOP:
advantages of incorporation

50.
ANS:
C
PTS:
1
DIF:
Medium
REF:
224

OBJ:
3.9.2.4
TOP:
labor force

51.
ANS:
D
PTS:
1
DIF:
Medium
REF:
216

OBJ:
3.9.1.4
TOP:
labor force

52.
ANS:
D
PTS:
1
DIF:
Medium
REF:
216-217

OBJ:
3.9.1.4
TOP:
trends in wages and benefits

53.
ANS:
D
PTS:
1
DIF:
Medium
REF:
244

OBJ:
4.10.1.1
TOP:
money

54.
ANS:
B
PTS:
1
DIF:
Medium
REF:
255

OBJ:
4.10.2.3
TOP:
federal deposit insurance corporation



55.
ANS:
C
PTS:
1
DIF:
Medium
REF:
250

OBJ:
4.10.2.1
TOP:
national bank



56.
ANS:
B
PTS:
1
DIF:
Medium
REF:
261

OBJ:
4.10.3.2
TOP:
mortgage

57.
ANS:
D
PTS:
1
DIF:
Medium
REF:
252

OBJ:
4.10.2.1
TOP:
bank run

58.
ANS:
A
PTS:
1
DIF:
Medium
REF:
261

OBJ:
4.10.3.2
TOP:
credit card

59.
ANS:
A
PTS:
1
DIF:
Medium
REF:
262

OBJ:
4.10.3.2
TOP:
interest

60.
ANS:
B
PTS:
1
DIF:
Medium
REF:
245

OBJ:
4.10.1.2
TOP:
characteristics of money

61.
ANS:
D
PTS:
1
DIF:
Hard
REF:
247

OBJ:
4.10.1.3
TOP:
sources of money’s value

62.
ANS:
D
PTS:
1
DIF:
Medium
REF:
288

OBJ:
4.11.3.2
TOP:
stock exchange



63.
ANS:
B
PTS:
1
DIF:
Medium
REF:
282

OBJ:
4.11.2.2
TOP:
treasury bill

64.
ANS:
C
PTS:
1
DIF:
Medium
REF:
286

OBJ:
4.11.3.1
TOP:
stock

65.
ANS:
D
PTS:
1
DIF:
Medium
REF:
286

OBJ:
4.11.3.1
TOP:
stock

66.
ANS:
B
PTS:
1
DIF:
Medium
REF:
271

OBJ:
4.11.1.1
TOP:
free enterprise



67.
ANS:
C
PTS:
1
DIF:
Medium
REF:
274-275

OBJ:
4.11.1.4
TOP:
risk and liquidity


68.
ANS:
B
PTS:
1
DIF:
Medium
REF:
301-303

OBJ:
5.12.1.2
TOP:
Gross Domestic Product

69.
ANS:
A
PTS:
1
DIF:
Medium
REF:
322

OBJ:
5.12.3.5
TOP:
technological progress


70.
ANS:
C
PTS:
1
DIF:
Medium
REF:
302

OBJ:
5.12.1.2
TOP:
nondurable good


71.
ANS:
A
PTS:
1
DIF:
Medium
REF:
304

OBJ:
5.12.1.3
TOP:
real GDP

72.
ANS:
C
PTS:
1
DIF:
Medium
REF:
311-314

OBJ:
5.12.2.2
TOP:
business cycles


73.
ANS:
A
PTS:
1
DIF:
Medium
REF:
331-334

OBJ:
5.13.1.1
TOP:
types of unemployment

74.
ANS:
D
PTS:
1
DIF:
Hard
REF:
340

OBJ:
5.13.2.2
TOP:
inflation rate

75.
ANS:
C
PTS:
1
DIF:
Hard
REF:
341-342

OBJ:
5.13.2.3
TOP:
causes of inflation


76.
ANS:
C
PTS:
1
DIF:
Medium
REF:
379

OBJ:
6.14.4.4
TOP:
revenue | property taxes

77.
ANS:
C
PTS:
1
DIF:
Medium
REF:
372-373

OBJ:
6.14.3.2
TOP:
social security



78.
ANS:
D
PTS:
1
DIF:
Medium
REF:
366

OBJ:
6.14.2.1
TOP:
income tax

79.
ANS:
C
PTS:
1
DIF:
Medium
REF:
400-401

OBJ:
6.15.2.3
TOP:
Keynesian economics


80.
ANS:
A
PTS:
1
DIF:
Medium
REF:
391-392

OBJ:
6.15.1.4
TOP:
fiscal policy | balanced budget

81.
ANS:
D
PTS:
1
DIF:
Medium
REF:
395-396

OBJ:
6.15.2.1
TOP:
classical economics


82.
ANS:
B
PTS:
1
DIF:
Medium
REF:
388

OBJ:
6.15.1.2
TOP:
fiscal year

83.
ANS:
B
PTS:
1
DIF:
Easy
REF:
399

OBJ:
6.15.2.2
TOP:
Laffer curve

84.
ANS:
A
PTS:
1
DIF:
Medium
REF:
428

OBJ:
6.16.3.2
TOP:
discount rate

85.
ANS:
A
PTS:
1
DIF:
Medium
REF:
421

OBJ:
6.16.2.2
TOP:
discount rate

86.
ANS:
A
PTS:
1
DIF:
Easy
REF:
428

OBJ:
6.16.3.2
TOP:
discount rate

87.
ANS:
C
PTS:
1
DIF:
Medium
REF:
463

OBJ:
7.17.3.3
TOP:
trade deficit

88.
ANS:
D
PTS:
1
DIF:
Medium
REF:
454

OBJ:
7.17.2.4
TOP:
NAFTA

89.
ANS:
D
PTS:
1
DIF:
Medium
REF:
462

OBJ:
7.17.3.3
TOP:
balance of trade


90.
ANS:
C
PTS:
1
DIF:
Medium
REF:
444

OBJ:
7.17.1.2
TOP:
comparative advantage

91.
ANS:
A
PTS:
1
DIF:
Easy
REF:
449

OBJ:
7.17.2.1
TOP:
trade barriers | import


92.
ANS:
A
PTS:
1
DIF:
Medium
REF:
452

OBJ:
7.17.2.3
TOP:
protectionism



93.
ANS:
B
PTS:
1
DIF:
Medium
REF:
482

OBJ:
7.18.2.3
TOP:
brain drain

94.
ANS:
A
PTS:
1
DIF:
Medium
REF:
472

OBJ:
7.18.1.2
TOP:
Per Capita Gross Domestic Product



95.
ANS:
A
PTS:
1
DIF:
Medium
REF:
479

OBJ:
7.18.2.1
TOP:
less developed country | developed nation


96.
ANS:
D
PTS:
1
DIF:
Medium
REF:
483

OBJ:
7.18.2.4
TOP:
less developed country

97.
ANS:
C
PTS:
1
DIF:
Hard
REF:
488

OBJ:
7.18.3.3
TOP:
less developed country | debt | International Monetary Fund (IMF)

98.
ANS:
B
PTS:
1
DIF:
Medium
REF:
475

OBJ:
7.18.1.3
TOP:
less developed country

99.
ANS:
D
PTS:
1
DIF:
Easy
REF:
471

OBJ:
7.18.1.2
TOP:
measuring levels of development

100.
ANS:
D
PTS:
1
DIF:
Hard
REF:
479

OBJ:
7.18.2.1
TOP:
population growth | less developed country

ESSAY

101.
ANS:


Possible answer: There would be more watermelons than people wanted, and watermelon prices would plummet. Meanwhile, people would offer large amounts of money for shoes.
PTS:
1
DIF:
Hard
REF:
14-15
OBJ:
1.1.3.2

TOP:
opportunity cost | trade-offs

102.
ANS:


A change in the age of the population will change the type of clothing that is in the greatest demand, because people of different ages demand different types of clothing. For example, a population that has a large percentage of teenagers will probably want jeans, whereas a population that has large percentage of 30- to 40-year-olds is likely to want clothes for work.
PTS:
1
DIF:
Hard
REF:
87
OBJ:
2.4.2.2

TOP:
law of demand



103.
ANS:


Possible answers: One question that should be asked is whether the government is using this excise tax or regulation as a way to try to keep people from buying the product because they think it is bad for them, as in the case of tobacco or alcohol. Another question that can be asked is whether the regulations are for the purpose of trying to control the environmental effects, as in the case of automobiles.
PTS:
1
DIF:
Hard
REF:
118
OBJ:
2.5.3.2

TOP:
excise tax

104.
ANS:


Two outcomes are possible. Either a surge of new employees could lower the wages of the least educated and least skilled workers already in the economy or the new legislation could provide poor people with new skills and therefore access to better-paying jobs.
PTS:
1
DIF:
Hard
REF:
349-350
OBJ:
5.13.3.3

TOP:
food stamps

105.
ANS:


A person could be employed only part-time, or be employed full-time but at a wage that is not enough to support the person, or could be part of a household in which there are not enough working people to lift the household income over the poverty threshold.
PTS:
1
DIF:
Hard
REF:
345
OBJ:
5.13.3.2

TOP:
poverty threshold


